USN

Time: 3 hrs. & Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosmg%NE full question from each module.
2. VTU Formula Hand Book is permitted... . :
3.M : Marks , L: Bloom’s level , C: egC‘ourse outcomes. L™
Module 1 L C
Q.1 |a. | Draw the block diagram of DC! power supply and explain the individual
blocks. " L2 | CO1
b. | Draw the circuit diagram of voltage regulation and explam ‘the operation. L2 | cot
¢. | An amplifier produces an output voltage of 2V for. a%ﬁl‘mﬁput of 50mV. If the |
input and output currents in this cond1t10n are 4mA and 200mA
respectively. Find.: L3 | CO1
i) The voltage.gain i) The current gain"i1i) The power gain.
OR .
Q.2 |a. | With, at’cucmt diagram and waveform Explain the workmg operation
ofa ﬁlll wave bridge rectifier. L2 | CO1
b. | Draw the circuit diagram of Voltage doubler and the ‘Worklng operation. __ . 12 | co1
¢. | Discuss briefly a Negative feedback amphﬁer wﬁ:h block diagram. L1 | cot
e Module 22
Q.3 | a. | With circuit d1agra,m, explain the ope;%tﬂlon of an wien brldgé“@s‘”mllator 12 | coz
b. | Define the followmg operational amé)hﬁer parameters valué
1) Open doop voltage gain :
L1 | CO2
c.
1) Differentiators, 11) Integrator. L1 | CO2
“OR
Q.4 | a. | Explain the smgle state astable ogmllator with circuit diagram. L1 | coz
b. | What is osc1llator. And mentllon condition for oscillations. L1 | coz
c. Explain the operation 4@ summing amplifier using operational amplifier and L2 | CO2
M‘;@ua@g
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Module -3
Q.5 [a. | Implement full adder using two half adders and one OR gate erte the
equations for Sum and Couy. « 8 | L3 | CO3
b. | Convert the following numbers to its equlvalent nurribers ‘and show the
steps.
i) (10110001101011.111100000), = (?)s
ii) (10110001101011.11110010)2 = (?16 6 |L2)CO3
iii) (1010.011)2 =(M1o
c. | Using basic Boolean theorems prove R
i) x+y)(x+z)=x+yz i) xy+*fxz“+ yz xz+ yz 6 | L3 | CO3
%:OR”
Q.6 | a. | Express the Boolean function (%, © 4
i) F=A+BCinasum ofylm}%rms form 8 | L2 | cosl
ii) F=xy+Xzin aprodug of maxterms form.
Ly A =ty
b. | Subtract the followurgnsgng 10’s complement ™
1) (72532 3250)@0 1) (3250 - 72532)10 6 | L2 | CO3
¢ 6 | L1|CO3
Q7 |a. 8 | L2| CO4
b. 6 | L1 | CO4
c 6 | L2 | CO4
Q8 |a. 8 | L2 | CO4
b. 6 | L1 | CO4
i, A‘d&g&% . .
c. erljf;gﬁ@short note on : 1)“§Iragisducers 1) Se%sors. 6 | L2 | CO4
e B / P
s * 7. Module— — :
Q9 |aw =Draw the block dlag;am§ f basic commumcatlon system and briefly explain | 10 | L2 | COS
(| | the individual bl@cks"“”
b. | Discuss the: types of communlcatmn S%fstems 5 | L2 | COS
c. | List the a’%hzantages of dlgltal cﬂpmmumcatlon over analog communication. 5 | L1|COS
Q.10 | a. | Define Amplitude aﬁé Frequency modulation. Sketch AM and FM | 10 | L1 | COS
waveform. @
b. | Write a short e on : Amplitude Shift Keying (ASK) modulator and | 10 | L2 | COS

demodulator
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